Rexroth
Bosch Group
20—FI\15
Series 11

R

@HTLL - IBEL:
FPOBSTIZEDEL DD
BELLHBENET,

@HIRILX—TE
FIRBYC TR)ILF —BEIHRNDT
ARACLABRLERHDBBY |

FTo
®BAIR
D8, FEH88. WS L THHEA
TEFT, =
[i1)
it
@11k
i - 0 [ 40 50 [ 63 l 80 [ 90 [ 100
BLOUEH om? 31.2 | 405 | 49.9 | 65.5 | 811 | 93.6 | 1025
ER 245
ERBEN ﬁ - e
P 7\ 8 o 20 B )
R ﬂ?\(ﬁ)ﬂ)ﬁ& ) - o
(=L S o WVrm'nj ~2000 .
EAES kg 5 [ 565 ] 6 [ 75 ]85 ] 95
] 1 EURE -
. | BE®BEH T )
I e ) )
| BERERH s -

T OALeL—Y3Y #m

) BBIRNIZKRORDTIZE 0
nE7O0—-F/ A IOER=9.5+(n—1 )X QO +BY 1 XOBEXE®|(kg)




® REHEE
®2E

® 38

@@@@3@@@ QQO@O
\\ T/ \ ‘\ .‘J \ | [/ p
T T

| /
/ [ [
/ ! i
/ / o

(&) 42 d5 (2 44 a1 (6

R _
— |
— N N

| / |
DOO DB

’/\ [/
D @ @ @

® =

BE 8 % B e aal B % BE B R w =

1 U6 2 | 2 0 | R9VRRILE G-

2 | "PUYTEVP 2 N T
B2 2 | 3 ) )
4| yaRTL—R 4 | 6 B R owe
RN i B R R
6 | ParLEv 2 1 3 s | e 5| SRI07.1x113x3.1
7 | omosevgseos |1 | 2 | 1% | Dwse L
8 | Tweorv-L 2 | e | 7 2TUvTE $25x8
o | zewrmite | 2 2 | ) )




O X ER |
[GPD1]-[40C]|[HD][50C][TD5][63C]|[6]-[11%*]

(2] (3] 2] e O (5]
BFTER Lo L ame
o OXPUVT v IR OHR— I8
GPD1 = 20-7/9 5 = UV—D0LR
=) - I 6 = UV—DDTH
O X(XV/\DIT) - ,/
2 - F [E=1 ] w JI/J oiz‘r—/§fw+‘$&1m
. #aurns@ a7 = b
A S (cm®) RCENNN = 77 TV ESN~ NG PEBLLEABEE
%7 HHEOET, WHBSOTARABBOEE
30 N 1. 2R ZEBENET,
5 ros B
40 c 1.5 AT 722
5 Los  »f »
B | N~
KDS >
50 [ 9.9 ‘Ié
N 2512
- 5 — ED5 4';,!-,3
63 65.5
c
KRBl
8 g 8.1 =
1 cC GPD1I0-71tT
8 1VBEYZA0.5CM? BBR—IT, K—hEL, APUSTHpIP,
90 c 9.6 2REY 1 Z49.9CM? FRIA— T, RAR—HIAPULTH01 P,
= 3WEY 1 X65.5CM° HEUK— {0, FRFR— R,
100 102.9
c
R—hOBEHE B=mRIR—~ 400 50C 63C
C=RRIR—k 7
N=R—kHL i
HD TD5

A1) FVN\DOITI-RHNETOREER

TEFE o

2) RAR—NBEVN\DIT NPT
FPUPOWTNTEENETOT, BIF
DI—FRIDBRU<EE L,
(IN=TB8)

3) BARTIEBTT A EROBALTER
TEBBESHHOFTOTERL TIEE
Ve

B GPD1-30NEDS40NTD563C6-110
’

40N

EDS—I

of

BRR—BHBN

30N 63C

TO5

4) 7Y BESRNBIFEBREDEDTH
D, BEEBERBEICKOPBOTREER
DELEFYAVBSRBBEENFT.

5) REDVSVILBBIFETT. 8X—JDK
BISVID) YN FOFRLTE
=121




@ [ BE (rmBVGHBIas, BE50+£3C) ]

@ DFERE
®GPD1-40-40--
’ LT
[ . RN
19—\ Lt »
L L I
i i e
o | ;L . [
~ 8 | - S
W
g
&0 EEE _
4 : \\\ b N R
‘ .5MP. -
R e M L
it - e e
Ll [
0 20 40 60 80
BHRAFAE (| /min)
0 500 1000 1500 2000
Fromy (mn')
@GP D1-50-50-
[ |
8 N L
. N
%
i
|/
Py ||
' \\ 3.5Mm T
} S
ESRaSe <3an
[ T
0 2 0 60 80
EEATAE (L /min)
0 500 1000 1500 2000
FP@ER (min )
®GPD1-63-63
14 T T T
L I ‘

12 \\

10 : |
Xy -
A »

N
(< J——

4 < .

~3.5vp,

: R

i L]

o

20 40 60 80 100 120 140
BRARAR (L/min)

0 500 1000 1600 2000
FPO®m® (mn")

A1) FEERRY v X(EB)DEEERICE DT —ITT,

@®GPD1-80-80--

DRRE (%)

) =
3.50ps T 1
~ Pa
2 TS ZMPQ ; !
i LT 1] |
20 40 60 80 100 120 140 160
BREOFRE (L /min)

0 500 1000 1500 2000
From” (mnh)

®GPD1-90-90-

14 — —

=3
.
t

LA

DRRE (%)

~_

|
Y20 40 60 80 100 120 140 160 180 200
BRAOMRE (L/min)

0 500 1000 1500 2000
FremE® (mn
@®GPD1-100-100--
14
12 \
Y T
I
N
®R
- ~Zvpy
4 . 1
.5 ™)
e
|| T

U0 40 60 80 100 120 140 160 180 200
BRoRRE (L/min)

0 500 1000 1500 2000
FrE&E® (mn)

2) DRRELFRATROONEBDZETT, FE. ENREDRR—SBORKEEERD

LTW&ET,

_ (BROAME - RORAAE)
ﬁﬁﬁ%A—Eﬁﬁmﬂl x100(%)




O A LDEESER

1) BN ZEOYR—A
29VERILEZERBLTIES
Lo

2) EERS
TRAFVER 37 D EERE 500~
2000 in ' DEBEBIC BB EDICLT
<EEVe RATRBHDBLNE,
DRMERB< B, BBEDE
BESAEBOET,
FOOES

 RAREB(L/min)

_[§t9i§5@ ]
BLODBREORCM®))

x103

3

2

RAR—E=DES
RAR—DENE. DR
DEDT—ETEZI O3 >D
BLOIBEEOESEICIVRS
DETOTRAICIOBEL T
EEL,

FNR—DEN(MPa)

_P101+ P22+
T ortoet

P1.P2,- - Pn:
DARR—DEN(MPa)

1,02, On:
BEITIZOBLOTBEE(cm?)

+PnOn 1
+n

x
0.85

4) DFH—DES

DR— RIDEEIX10MPa
TR 2B ESEDLFTo
EEHAE<BNIEDFIELELR
<BOFET,

e HRA—~ETDWIT DB,
BRI T<EEL. JO—F
|3 DBESEBICK D, TOY
DENEDFM— = DENDIER
CE<BOFT.

21

HHg
GHD
W

rza_ 17.5MPa
® L

21 0EBOBsIciE. TOvIoEN
EDRR—DENDBMPaZE IR
[ok-3-p%

5) B&E8s

6)

J0—F/\r Y =BHBERICERE
N2\EE. DFR—HIZERER
ERRUFPET— 3 /F51EA
DOEEAERITTIIEEL RO
CREESERT LS. 0T
NI DARBBEINIC KOERETF
ELFT, CORESHFEDAI
CBIRL F T, TEDETREE
DIBNEDTEB<IE X0\

B2

M2DEDCEFBE. F5H
FICARO—DIVRICETDE
=D)L T R REEBIERED
DIRICHN, BEMMBIEENFT .
M3DEDICTFIFEBE. A5
FIZARO—DIVRICETDE.
FIT WO NLTONRE. BIRE
EDDRRICHN., FrEoT—232
EplEENFT PUFFvET
—2 30231 MPa I2EOE
NICZRDBDORAZERL—XIZL
TEEL

SETAE

TO0—F/\« I EMERETS
S0} E—IERETEDED
23VORETLOEIT 2
RV TEBAEITES>EIY32)
DRBRODEDBNBEDH TH
DET,

B4
P=15MPa P=20MPa
@
100 L/min 200 L/min
P=175MPa P =2MPe

=100 L/min
H P

300 L./min

NMA4DBEEEILOEIT 3D
5100 L /min AL &&200

L /min 20—/ I KO0t

HUFTOTEREBZEITIDE
BICBOET,

LHL. B508B8EERIOED
23751001 /min. BRIOE
2237175200 L/miniAmA L.

&Et300L /min A DO0—F I\
FOIEBLFTOT. ERIERZE
33 OEBICE>BOERBN. D
BE. ZRIOEDS3>ODHN
—~EBECEY. FreET—3
SIVHRELFT, JEBAT
FJo

7) {EEs

O {FENBEISOTL — = VGE3R2F
ZlEV GH6H8H6(1S03448) %
HELFT,

@HIRMEEENB( VBT XTI
KT S D—IUih) & Z B DR
[FBE AR <IE =N

® (EARREEHE - —10~+90C

@ BTGB EE : 15~150mm?/s

8) 25p DI ILI—ZERTDEE
HITITHLFT,

B-83



73-4

@ NI IR
®2&

® 3

e C- U A= 27D B R S —
A1

a————————————— (A1 + A2+ A3+ 326) +2

A1

.@ .

T T T“T BN
N

N

A
—f 3] fe—

HR—BROVERILS

i

® 4&E

i

E) ERAI~ALX O T-ATEETRS T ADATE T,

’-—48— -Tk84+

] T“”AZT

]

140

126 ————am={

e 46 3

/1

e

A2+A3 A3
48+ —eml 3
2
L
[
(A1+A2+ A3+ A4+410)+2
A2+A3 As+A4

——t—48+ 274’ 31

|

@

%

g
L@

g

/
\

\

i

4-%3;

v X

30

40

80 90

100

ATE (mm)

40

46

5=




@ /\DOIT

!
]

soi )

T
'

_/ﬁLLJ
40 4-dxi
a b
0 — A B C D E a X b d X @
3N 0
08© | #19 2.2x47.6 M10x18
osB@ | 2 #25.5 26.2x52.4 | MI0x18
8B | e | 162 @ 102 30.2x58.7 ~ M10x18
08O | 7 #3  Bx698 M12x18
QQB(C) 80 B #38 ) 35]><698 - M12x18
100B(C) 86 #38 35.7%69.8 M12x18
) FNDIVTI-RERDCo NI ERORRTEICHNT
C:HFBR—~ N R—~EL
2BOTNET,
®NXPT Xl )P
""84 [
I ! |
T T
. (ﬁi?\{ﬂU' |
EER P
I
o T I { I }'_k Q
‘ | @ € i
A
: i
w90/, L \doxi . 4o
5 - ®oOAN R - 58 #R/OR I~
D1 al x b1 a1 x I D2 a2 x be dz2 x I2
HD - =
TOS #32 30.2x58.7 M10x18
- S ‘ e S
RD5 $32 30.2x58.7 | M10x18 #19 22.2%x47.6 M10x18
LDS #32 30.2x58.7 M10%18 #19 22.2%47.6 M10x18
KDS | #19 22.2x47.6 M10x18
EDS #19 22.2%47.6 M10%x18

B-85



98-4

eSSy |

e SAERUAHTISVY
Rex=
7

X | R = I=We | Roxz | A1 A2 | B1| B2 | Hi| He| di | de | BTIL | | e
© | FHAQ0/020/00 | 4100020079 | Rc% | 86 | 54 |47.6/22.2| 25 | 20 |23.6] 11 | MI0X3 | 1B-G30| 20A
50| FHADZ/05/00 | 0000088 | Rc1 | 70 | 60 |52.426.2) %5 | 20 |205| 1M | W03 |1B-GEH| %A
8 | FHAOR/0%2/00 | /00020088 | Fce | 80 | 74 |68.7[30.2| 30 | 25 |38.5| 11 | MI0xd0 |18-Gas|  R2A
80.90.100 | FHAG0/0M0/00 | 4100020108 | Rt | 94 | 84 |69.8(35.7| 30 | 25 |44 | 13 | Moxd) | 1A-GS0|  40A

e SAERGSEBEDIS VY

l 3
N 4-d2
@EYZ | R Ii—wvm | A1| Az| B1| B2| D1] D2| Hi| Hz| d1| de|mugmik | Q| ammeE
40 FHF20/020/00 | 4100020218 | 66 | 65 |47.6|22.2] 22 | 30 | % | 14 |19 | 11 | MM0x30 | 18-G30| A
50 FHF025/025/00 | 2100020227 | 70 | 60 |52.4[26.2| 27 | % | 35 | 14 |25.5| 11 | MI0x30 | 1B-G35| 25A
63 FHF032/032/00 | 4100020236 | 80 | 74 [56.7[30.2] 35 | 45 | 3 | 14 |82 | 11 | MI0x3 |1B-G#5| RA
80.90.100 | FHF040/040/00 | 4100020245 | 94 | 84 [69.8(35.7| 42 | 52 | 45 | 16 (38 | 13 | MM2x30 | 1A-GB0| 40A

e ELAMBEIS VY
‘ oV
4 S ' ) BISUIORTRILS - EvFiE
| IB2'u® 14-d2 SAERBTHOEIH, REYT
— A2 X1 SV INE<BOTNET o
B X B fi-wne | AlAZ 81 B2| D1 | D2 |HiHe|Ha difde| £ | ¢ | BRILE | (i | EmEeE
0 FHCO20/016/00 | 4100020153 | 66| 54| 47.6| 22.2] 22,2717 |28 | 25|20 |10[16] 113 [2.5] M10x3 | 18-030| T5A
50 FHC025/020/00 | 100020162 |70 | 60 52.4 | 26.2| 27.7 707 [34.5 | 25| 20|12 | 22[11[3.5[3 | miox3 |[18-C35| 20A
® FHC032/025/00 | 4100020171 | 80[74]58.7 [30.2[34.575° (43 [30] 25|14 28116 |4 | mioxa0 [12-Cdo| 25A
80.80,100 | FHC040/032/00 | 4100020189 | 94 | 84| 69.8 | 35.7| 43.2°C7 [53 |30 25(15]36(13]6 |4.5] M12x40 | 1A—-G50| 32A






